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QUESTION 1

Which statement is correct regarding settings at the organizational level?

A. The organizational level is where you define each location\\'s specific information.

B. The organizational level is where you specify customer-level global details.

C. The organizational level is where you enable BLE capabilities, if you have a license.

D. The organizational level is where you specify information about each AP\\'s placement.

Correct Answer: A

QUESTION 2

You have designed a WLAN to satisfy primary coverage, secondary coverage, and capacity requirements. However,
you still do not have enough BLE radios to satisfy your location requirements. You want to fill the gaps with a low cost,
BLE- only device.

Which Mist device will satisfy this requirement?

A. AP41

B. BT11

C. AP32

D. AP43

Correct Answer: B

QUESTION 3
Which statement is correct about a WLAN RF medium?
A. A WLAN RF is a full duplex, contention free medium where each client transmits on a separate channel.

B. A WLAN RF is a full-duplex, contention-free medium where 802.11 stations can transmit and receive at the same
time.

C. AWLAN RF is a half-duplex, shared medium where 802.11 stations contend with each other for access.
D. A WLAN RF is a half-duplex, contention-free medium where the access point polls each station in turn.

Correct Answer: C

QUESTION 4
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Which Mist feature offers Al-based interactive troubleshooting?
A. Marvis

B. Wireless Assurance

C. Insights

D. Site Configuration

Correct Answer: A

QUESTION 5

Which SLE would you use to determine Wi-Fi interference?
A. AP Uptime

B. Roaming

C. Successful Connects

D. Capacity

Correct Answer: D

QUESTION 6

You are troubleshooting a signal strength issue when you notice that the signal strength changes from -70 to -73 dBm
as you move from one room to another.

In this scenario, what is happening?

A. Signal strength has increased by 10x.
B. Signal strength has decreased by 10x.
C. Signal strength has doubled.

D. Signal strength has halved.

Correct Answer: B

QUESTION 7
A user is experiencing DNS problems.
In this scenario, where in the GUI would you be able to see the problems?

A. WLAN tab
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B. Live View
C. Clients tab
D. Insights

Correct Answer: D

QUESTION 8

A customer wants to physically wire their interior automated sliding doors to Mist APs to directly control location access
to certain office areas.

In this scenario, which Mist AP capability allows them to accomplish this task?
A. header pins

B. IoT interface

C. optical sensor

D. audio sensor

Correct Answer: A

QUESTION 9

Which statement is correct about the Mist API?

A. Only SLE configurations are available from the API.
B. Only AP configurations are available from the API.
C. Everything seen in the GUI is available from the API.
D. Nothing seen in the GUI is available from the API.

Correct Answer: B

QUESTION 10

What are two characteristics of the 2.4 GHz band when compared to the 5 GHz band? (Choose two.)
A. shorter wavelength

B. lower frequency

C. less non-Wi-Fi interference

D. more congestion
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Correct Answer: BC

QUESTION 11

Which statement is correct about Mist Edge?

A. Mist Edge extends select microservices to the customer premises.
B. Mist Edge must be deployed in the public cloud.

C. Mist Edge is a firewall.

D. Mist Edge is a VPN client.

Correct Answer: A

QUESTION 12

The DHCP server has run out of address leases on a site.

In this scenario, which SLE would be useful to what is happening?
A. capacity

B. throughput

C. roaming

D. successful connects

Correct Answer: D

QUESTION 13

Which 802.11 amendment added OFDMA?
A. 802.11b

B. 802.11n

C. 802.11ax

D. 802.11ac

Correct Answer: C

QUESTION 14

Which two statements are correct about Marvis? (Choose two.)
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A. Marvis is the main configuration tool.

B. Marvis lets you ask questions about your network.
C. Marvis will send custom reports.

D. Marvis can be used as a proactive monitoring tool.

Correct Answer: BD

QUESTION 15

ROOt cause anaIVSis Select a metric to analyze m # b &

Service Level Metrics Classifiers
Time to Connect Authorization 3%
Association 15%

Internet Services 2%

DHCP 80%

Referring to the exhibit, what do you determine about the site\\'s Time to Connect SLE metric?
A. Successful connect averaged 1.6 seconds.

B. Eighty percent of the Time to Connect failures are related to DHCP failures.

C. All clients cannot connect to the Internet.

D. Time to Connect Association DHCP failures impacted 80% of users.

Correct Answer: A
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